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1. Introduction

Consider the following auction:-

1NT (2() ? where 1NT is 12-14 and you hold a)
52
or b)
5


Q74
AQ7


J6
KJ6


KJ10832
KQ10832

With hand a) you want to bid 3( to compete the part score whereas with hand b) you want to bid 3( to investigate the best game/slam.  Clearly 3( can only have one of these meanings and using traditional treatments you have a major problem with one of these hands (probably type b).

Now consider a very different auction:-

(2() Dbl (P) ? and you hold c)
952
or d)
J52


J9843
AJ983


J6
K6


832
832

With hand c) you want to bid 3( only because partner has forced you to do something and you don't want him to bid again whereas with hand d) you want to bid 3( to invite partner to bid game.  Again 3( can only have one of these meanings and using traditional treatments you have a problem with one of these hands (probably type d).

The common theme between these two situations is that you want to make the same 3 level bid with hands of two very different strengths.  Lebensohl attempts to assist in these situations by using 2NT as a puppet to 3( after which the 2NT bidder can pass 3( or bid a new suit to show the minimum range of values.  If instead he bids directly at the 3 level without bidding 2NT first then he shows the maximum range of values.

Thus in the examples above 1NT (2() 2NT (P) 3( (P) P shows something like hand a) whereas 1NT (2() 3( shows something like hand b).  Similarly (2() Dbl (P) 2NT (P) 3( (P) 3( shows something like hand c) whereas (2() Dbl (P) 3( shows something like hand d).

There is of course a downside to using 2NT in this way.  It can no longer be used as a natural invitational bid.  However many consider this a small price to pay for enabling the distinction of hands of such varied strength.

2.
The Situations where Lebensohl Applies

There are two main issues with lebensohl:-

i)
Definition of the situations where it applies.

ii)
Is the strong variant, ie when 2NT is not used, forcing or just constructive.  Note that going via 2NT is always just competitive unless the 2NT bidder continues the auction by bidding above a cue bid.

This section defines a suggested approach to these issues.

The two examples in the introduction represent the 2 common situations where lebensohl is widely used:-

A)
Partner has shown limited balanced values and next hand overcalls, eg 1NT (2() ?


Here we know more about partners values than his support for our suit.  Hence we have less need of an invitational bid but need to investigate possible suit fits when forcing to game.  In these situations we should use 2NT to distinguish competitive hands from game forces.  We need to show our suit when we force to game because partner may not have support.  Thus:-

(
Direct 3 bids are natural and FG.

(
2NT is a puppet to 3( and after this a 3 bid is to play if below a cue bid and invitational above a cue bid  eg 1NT (2() 2NT (P) 3( (P) 3( [because if you just wanted to compete you could have done so at the 2 level by bidding 2(].

B)
Partner has made a 2 level take-out double, eg (2() Dbl ?


Here we know more about partners shape than his values.  Hence we need to define our strength but we can assume support and just bid game if we have FG values.  In these situations we should use 2NT to distinguish competitive hands from invitational hands.  Thus:-

(
Direct 3 bids are natural and invitational.

(
2NT is a puppet to 3( and after this a 3 bid is to play.


It is possible in this case that the doubler has substantial extra values and wishes to try for game even after a 2NT puppet.  If so then does this by bidding something other than 3(.  This is similar to the doubler bidding again after a 1 level take-out double, eg (1() Dbl (P) 2( (P) 2(.

Lebensohl has proved to be such a useful convention that its use has been extended by some pairs to situations other than the two common ones:-

C)
Opener reverse after a 1 level response, eg 1( (P) 1( (P) 2( (P) ?


Here the traditional approach is for a return to opener's suit to be NF with 4th suit forcing being used for FG hands.  This is inefficient because responder often has FG values and may want to investigate a slam.  An alternative approach using lebensohl is:-

(
Direct 3 bids are natural and FG.

(
2NT is a puppet to 3( and after this a 3 bid is non-forcing.


As with type B) if opener has extra distribution or FG values then he bids something other than 3( over the puppet.

D)
After partner has responded to an opening bid the fourth hand opponent makes a 2 level overcall in a suit higher than the opener's, eg 1( (P) 1( (2() ?

Here we will rarely have FG values but often want to compete the part score and distinguish this from bidding constructively with extra values.  Thus:-

(
Direct 3 bids are natural and constructive with extra values.

(
2NT is a puppet to 3( and after this a 3 bid is just competitive.


Again if responder has extra distribution or FG values then he bids something other than 3( over the puppet.


This use of 2NT is often known as the good-bad 2NT.

E)
After opponent's Michael's cue bid, eg 1( (2(=(+minor).


Here 2NT isn't very useful as a natural bid because you'd usually dbl with balanced values.  It is more useful to distinguish competitive and FG hands.  Thus:-

(
Direct 3 bids are natural and FG.

(
2NT is a puppet to 3( and after this a 3 bid is just competitive.

F)
Opponents have raised after partner's 1 level take-out double, eg (1() Dbl (2() (P) ?


This is an extension of type B).  Although we don't have to bid it is still useful to distinguish invitational hands from those just wanting to compete the part score.  Thus:-

(
Direct 3 bids are natural and invitational.

(
2NT is a puppet to 3( and after this a 3 bid is just competitive.

3.
Examples & Some Other Considerations

3.1
Type A

1NT (2() ?

(1() 1NT (2() ?

(1() 1NT (2() ?

(1NT) Dbl (2() ?
Here the doubler is assumed to be balanced but he may not be.  If the doubler bids 3(/(/( over responder's 2NT then he is showing preference for his own long suit (NF) rather than playing in responder's suit.

(2() Dbl (2() ?
This example assumes that the Dbl = weak balanced or very strong.  Again the doubler is assumed to be balanced but he may not be.  3(/(/( over responder's 2NT show a strong unbalanced hand.

Other Considerations for this Type:

1.
What does responder's double mean?  I recommend that it means the same in all the sequences.  The possible meanings are:

a)
penalty

b)
balanced values, invitational+ (may only have xx in trumps)

c)
take-out, may be just competitive so not assumed to be invitational


I suggest you play whatever you play now for 1NT (2() DBL.  Traditional practice is to play a) ie penalty.  Current common practice in Britain is to play b) ie balanced values.  Common expert practice is to play c) ie take-out.

2.
What is the difference between a direct Cue/3NT and bidding 2NT then Cue/3NT?


Common practice is for 3NT to deny 4 cards in the unbid major and Cue to show 4 in the unbid major.  One route to Cue/3NT shows a stop and the other denies a stop; both ways round are commonly played and the choice isn't very important (as long as you know for your partnership).  I recommend that via 2NT shows a stop and that direct Cue/3NT denies a stop.  The rationale for this is that if no-one has yet bid no-trumps then after a Cue it ensures that the hand with a stop becomes the NT declarer.

3.
What if the Intervention is Artificial?

a)
With an anchor suit, eg Astro 2(=(+another suit.  I recommend that the meaning of Dbl and 2NT are the same as if the bid were natural, and that a 2 level cue bid of the anchor suit shows a take-out (possibly only competitive so not invitational).  At the 3 level their bid suit is natural and their anchor suit is a cue bid.

b)
No anchor suit, eg 2( shows an unspecified single suit.  I recommend that the meaning of Dbl and 2NT are unchanged, ie the bid is treated as natural, and that the meaning of a cue bid (3() is the opposite of the meaning of double.  Thus if dbl is penalty or balanced values then 3( is a cue bid with dbl then 3( being natural FG and pass then 3( being to play.  However if an initial dbl is take-out then an immediate 3( should be natural FG and Dbl then 3( a cue bid.

c)
No suit bid at all, eg 1NT (DBL) shows an unspecified single suit, or (1NT) DBL (P) is forcing to RDBL, or (1NT) DBL (RDBL) is forcing to 2(.  Recommend pass=values or weak balanced, bids=weak unbalanced, and lebensohl only applies once they have bid a suit.  Make sure you know whether subsequent passes are forcing and what subsequent doubles mean.  One possible set of rules after (1NT) DBL is that pass of 2(/( is forcing, pass of 2(/( is non-forcing, DBL of 2(/( is penalty, DBL of 2(/( is take-out.

3.2
Type B

(1() Dbl (2() ?

(2() Dbl (P) ?

(2() P (P) Dbl

(P)   ?

1( (2() P (P)

Dbl (P)  ?

(1NT) P (2( nat) Dbl

(P)   ?

(2( multi) P (2() Dbl
)

(P)           ?
)  if these doubles

(2( multi) P (2() P
)  are for take-out

(P)         Dbl (P) ?
)

Other Considerations for this Type:

1.
Lebensohl is most useful after a take-out double of 2( or 2(.  Over a minor suit many, including me, consider that 2NT is more useful as natural.

2.
There are two take-out double situations where 2NT as lebensohl is considered by many to be not so useful:-

a)
Over responder's negative double, eg 1( (2() Dbl (P) ? or 1( (2() Dbl (P) ?  Here it would be useful to have 2NT lebensohl available but there is probably an even greater need for a natural 2NT to be available.  I recommend that 2NT is natural after a negative double.

b)
Where the partnership has minimal game prospects.  This arises when a protective double is made by a hand that has already passed, eg (1() P (2() P (P) Dbl (P), or when the responder to the double is already known to be weak, eg (1() Dbl (2() P (P) Dbl (P) ?  Here there is no real need to consider the combined strength at all since we are not interested in game.  Instead the need is to find our best fit.  Thus 2NT is best used as fit finding, typically showing 2 four card suits and asking the doubler to bid his suits upwards.

Because of these exceptions it is important to be clear what your partnership rules are.  I recommend a rule that 2NT is always lebensohl over a take-out double of 2 of a major except for a) and b) above.  I recommend that over a take-out double of 2 of a minor that 2NT is always natural.

3.
Type C

1( (P) 1( (P)

2( (P) ?

1( (P) 1( (P)

2( (P) ?

Other Considerations for this Type:-

1.
It is important to define whether responder's two level rebid of his own suit is forcing, eg 1( (P) 1( (P) 2( (P) 2(.  I recommend that it is forcing for 1 round and that if responder bids a 3rd time it becomes FG.

2.
There are only 4 sequences of this type.  In two of them opener reverses into ( and 4th suit forcing is available below 2NT.  In the other 2 sequences opener reverses into ( and the 4th suit is above 2NT.


Where 4th suit is available below 2NT then it is necessary to define what it means since it isn't really needed for its traditional uses.  I recommend that the 4th suit replaces 2NT as the puppet and becomes a puppet to the next bid with 2NT reverting to natural FG.  This enables 2( or 2NT to be the final contract after 1( (P) 1( (P) 2( (P) 2( (P) 2(.
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